Efficiency vs P,

~ 0.5
0.45
0.4
0.35]
0.3
0.25
0.2

ermciency vs p

e
T

107 1 10 prT (Ge\})o3

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

= 0.5p
@ E
2045
I E
o 04F
[} o
£ 0.35F
o =
0.3F
0.25F
0.2F
0.15F
0.1
0.05F
o +0F
S
o [
1|43
0.955

Efficiency vs ¢

o 05

=}

S

]
]

efficiency vs

e
e T et T

..... PP S




	Contents
	Page 1


